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! Answer the 1ollowin _
. 8 quesiions. -

“«2)  What do you mean b 9Q -
path dilTE;ctlcc_ Y coherence 7 State relation between phase difference and
FAEZAT ¥ 31q T G99 T FH I U i BT g |

(b) 'l[!ﬂ fringes are shified from Vision region when moving mirror of Michelson

interferometer is moved by ¢ distance 0.03 mm. Calculate the wavelength of light
used.
A Safar A nfnfre zdn @ 0.03 mm Refa #0 w g @ 100
= fenfia gt & 1 vgwa vomn ) qoeed 3 ©fm )

(¢)  DifYerentiate the Fresnel's and Fraunhoffer type of diffraction.

%S T S @ & frada 3 smm Hife |

(d)  Define half wave and quarter wave plates.
HGTC1 T Fquin @ 2 S gfenfa fif )
() What is the difference between holography and photography ?
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(D Explain total imemal reflection in optical fibre.
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UNIT-1 /51§ -1
{a¥ Prove that the shape of interference fringes is hyperbolic.
fore Fifra s st Bl 7 3R Aftraefs gt d |

(b) In Newton’s ring experiment the diameter of n® and (r + 8)® rings are *_1.2 mm
and 7 mm respectively. Radius of curvature of the plano-convex lens is 2 m. ,

Calculate the wavelength of light used. https:/www.pdusuonline.com
Z3 FEq YA 4 ol qw (n + 8)dl &q qerdi & = F9: 4.2 mm a0 7 mm 4
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Explain the construction and working of Michelson interferrometer. How do you
determine the wavelength of monochromatic light and refractive index of thin fiim by 6

this ?
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37 What do you mean by Fresnel's half period 70ney 7 ey,
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zone 15 sawe and radws of successive zones g, Propor;
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OR/¥Ydl

Discuss the Fraunhoffer diffraction at a circular aperture. 4
U T e B Wi faads ) faden |
What do you understand by resolution ? Give Rayleigh’s criteria for resolution. 2
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UNIT - L1/ &Y - I

What do vou understand by plane polarised, circularly polarised and elliptically
polanised light ? Prove that plane polarised and circularly polarised light are
specific states of elliptically polansed light. 4

B yfad, geita gfvw, deige: givn v @ s wn ww § 2 fig Hife B
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Calculate the thickness of quarter and half wave plates if A = 6000 A, Hg = 1.853

and p, = 1.544. https://www.pdusuonline.com 2

agaln w1 Wew w@ wd A few i A ww At aR L = 6000 A,
pe = 1.553 T, = 1.544.

OrR/¥Yal ,
Describe construction and working of Laurent’s half shade polarimeter.
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A ray of light is wmcident at angle of polarisation on glass plate of refracuive

index 1.732. Calculate the angle of refraction of ray.
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5. (a)
(b)
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UNIT < 1y s vt - IV

an by Populati, inversion ? Write the essential conditions fof
L] . i
ASCT process and eaplam the

What do you me

method of optical pumping.
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Calculate the intensity on surface located 91 100 m distance from @ laser source
of 6000 A having aperture of 4 mm and power 10 mW.
6000 A ¥ A B (ZNF 4 mm g AFR 10 mW) B 100 A, 1 Z w T M
dam H o R |

OR/Fq9a
Describe construction, principle and working of CO, laser.
CO, M i ¥, fegra 7 Frdfafy wugrd |

¥ pisin the construction of hologram.
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